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7 {(a) Express 66 as a product of 11s prime factors
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(b) Expriess 1327 as a product of 1ts pnme factors
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(a) Find the highest common factor (HCF) of 24 and 30

24 = 3x 2%2%2
30 = LK G

HcE = 23x2 =6

(b) Find the lowest common multiple (LCM) of 4, 5 and 6

[RO

1

Lcm = 4x§ xé
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(a) Express 45 as a product of its pnime factors.

45':: 2X &5 X3
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(b) Find the Highest Common Factor (HCF) of 45 and 30
L}[J“‘: IS X3

0= X X2
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Hcr IxE5 = J§



20. (a) Wnite 56 as a product of its prime factors.
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5,z ax2r 22X T
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(b) Find the Highest Common Factor (HCF) of 56 and 42
the X EXR FXT
4= 2%3 %]
HCF = 2xT = 04
(2)

(Total 4 marks)



15. Express 180 as a product of its prime factors.
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15. (a) Express 84 as a product of 1ts prime factors,

(b) Find the Highest Common Factor (HCF) of 84 and 35
G42 2%LXI KT
352 5% T
e = T e

iTatal 5 markay



16. (a) Express 252 as a product of its prime factors.
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James thinks of two numbers.
He says “The Highest Common Factor (HCF) of my two numbers 1s 3

The Lowest Common Multiple (LCM) of my two numbers 1s 457

(b} Write down two numbers that James could be thinking of.

1S = I
Q= F% 3

.........................



5. Work out the Highest Common Factor (HCF} of 24 and 64

A4 =2 2% 2% 2 %3

GA =2 XL X2 YR X 2 K Z

WerE = §

(Total 2 marks)




(b) Express 108 as : 1
)} Express 108 as a product of its prime factors
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